Motion graphs – problems

Plot graphs of the motion of the three vehicles and use them to work out the distances.

1. A lorry starts at 0m/s and accelerates to 12m/s in 10s, then travels at a constant velocity for 30s and finally slows down to a stop after a further 25s. Find the distance from (a) 10s to 40s and (b) 40s to 65s.

2. A car starts at 0m/s and accelerates to 20m/s in 15s, travels at a constant velocity for 20s and finally slows down steadily to a stop 100s after the start. Find the distance travelled from 0s to 100s.

3. A sprinter accelerates from 0m/s to 8m/s in 2.5s, runs at a constant velocity for 12s and finally slows down steadily to stop after a further 3s. Find the total distance travelled.

4. Find the total distance travelled by the car shown in the following graph.
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